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QUESTION 1

Whilst testing the payroll ran, five workers went into error status. The remaining 10,000 workers completed successfully.
You have reviewed and corrected the underlying issues for the five workers and now need to correct their payroll
results. 

What action should you take? 

A. Process Payroll 

B. Mark erred workers for retry and retry the payroll. 

C. Rollback the payroll run and reprocess 

D. Manually update the payroll run status for each worker from error to complete. 

Correct Answer: B 

 

QUESTION 2

An element is defined with costing type as "Fixed Costing". 

Which costing levels are considered while building cost account? 

A. Payroll, Element Eligibility, Department, Element Entry 

B. Payroll, Department, Element Eligibility 

C. Payroll, Element Eligibility, Element Entry 

D. Payroll, Person Element Entry, Department, Job or Position, Person, Element Eligibility 

Correct Answer: C 

 

QUESTION 3

Which two delivered reports can be used to view the results of a payroll run immediately after running the Calculate
Payroll process? (Choose two.) 

A. Payroll Balance Report 

B. Payroll Register Report 

C. Payroll Activity Report 

D. Payment Register Report 

Correct Answer: AC 

Reference: https://docs.oracle.com/cd/E60665_01/globalcs_gs/OAPAY/F1427133AN1BE47.htm 
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QUESTION 4

Your customer has the finance system in a third party system and you have to send the payroll costing entries to a third
party system. Which two options can be used to extract the data from Cloud Payroll system? 

A. You cannot extract the costing results from cloud payroll to send it to third party financials system. 

B. You can use the OTBI

Correct Answer: BC 

 

 

QUESTION 5

Which two statements regarding the relationship between legal entities, legal employers, and payroll statutory units
(PSU) are correct? (Choose two.) 

A. A legal employer can be associated with multiple PSUs 

B. A legal entity can be both a legal employer and a PSU 

C. Legal entities responsible for paying workers 

D. PSUs are legal entities responsible for payroll tax and social insurance reporting 

Correct Answer: CD 

Reference: https://docs.oracle.com/en/cloud/saas/financials/r13-update17d/faigl/legal-entities.html#FAIGL1453110 
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